ECo239  Quir2  Answes (Tan.¢ 20/p )
X~ N( 10, 25)
A Find #e —Fo//awj )OméﬂJ Jfities

O P 10Gm) = PG> ) = Has ag) < = pracay
== Floy) = [~ 0 656Y ~ D194
@@ PUl<xe)s) < PR ¢ 5 13~ /0) Plorcgcar)
= F(o.é)- F(o.2) = 01725} —0,Sp%
T D4by
©)

P(9<X<//) g I jo
- — /]~ e
A 5 <3<% = Pl-02¢2¢< o,z)

% F(O'l_)._ F(N()iy ~ F(OFL)‘“ [xlyl:(a‘l}\—]
L SR e —

o°~/0
© /)( = CR< );- I’(~0§L<8< 0,4)
P(0'2<3(0%) = F(D%)-F(U‘J.J
A"

B. Fing e Vdfue

ol L ZrXX S T4q Oh/] /0 of 2l vafte.

P(X< %j:a.| —) F(2<-20) EO./

F(#r2e)<0.| - P(2<20) = 4,9
il . ST RS fodte
o= Al a2 o L.

=2

Xe = Moo (ze) = 10+ 5(~)2¢ ) = CgEg



